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Year 6 Summer 2 Maths Activity Mat 1 Answers

Section 1

Order the following numbers from smllst to larget-
‘one hundred and fourteen thousand, four hundred and
fourtoe; one hundred and forty-one thousand, one
hundred and eleven, one hundred and fourteen thousand.
‘one hundre and forty-four, one hundred and sleven

Section 2
Calculate:

02x100-

Section 3

Write a descipton of  hexagonal prism

& hexagonl prism has  face:  hexagonal (with &
side) faces t ither end. The othe & faces are all
dential rectangles, which re perpendicalar and join
the hexaganal aces.

thousand, four hundred and fourteen. 09x1000=

11as | 1636 | 16em | w111
emallest

06x1100-

Section 8
‘Som children research their classmates’ favourite colour:
They thow the rezult in a pie chart.

Section &4

Here are me estimated.
anwers to some colculatons.
Tick the reazonable estimates.

82516+ 13000y

4982451+ 32564 119 =/
8000000

6027+ 1250 5
Section 7
A grocer zll potatoes in bags of 500g and 750g

How could the grocer use 13 75kg of potatoes o fil
some bags of potatoes, o there are an equal number
of bags of sach weight?

32 children were asked about their favourits colour. How

Explain why any estimates
o able ‘many children chose each colour?

are unreazonable.
500 is more reaenable





